Baby Mega Set#1 DO NOT WRITE ON THIS PAPER!

1.

The sum of the digits of a two-digit counting number is 9. When the digits are
reversed, the new number is 9 less than the original number. What are the two
numbers?

There were 35 nickels, dimes, and silver dollars in the pile, and their value was
$12.25. How many coins of each kind were there if there were twice as many silver
dollars as nickels?

How many liters of a solution that is 37% key ingredient should be added to 143
liters of a 73% solution to yield a 519 solution?

The number of greens exceeded the sum of the reds and blues by 9. The sumi of the
blues and greens exceeded 4 times the number of reds by 1. How.many of each kind
were there if there were 2 more reds than blues?

Sam strained and strained but could only garner 74. If this was only
he wanted, how much did he want?

2 of what

Find the equation of the line that passes through (—2, 5) that is perpendicular to
the line that passes through (—4, —2) and (5, 7).

7. Use the calculator to evaluate: (a) 0.6% (b)) 0.047°
8. Sketch the function y = 4.
9. Sketch the function y = (3)*
10. Draw the required triangle and evaluate 4./3 cos 60°.
11. Draw the required triangle and evaluate 8 tan 45°.
12. Solve: =0
x—y=13
Factor:
13. 64a3b° — 14. 27b%aS + 64c°
Simplify:
a® 6m?
X%y Px 3x
15. = 16. . &
¥ X2 y s k
2
1 {5z 4m
17. Solveforz 2Ut=—|———
3s2\6 =n
18. Divide x* — 2x + 1 by x — 2 and check.
19.

If the length of a rectangle is 3x + 2y and the perimeter is 10x + 6y, what is the
width of the rectangle?

Always round to 3 places after the decimal,

unless it is exact.

Simplify: - -
20, 32'ss7 21. 3lesy6-logs2 22.. 3~ N)\HIM
1-3./3
Solve by completing the square:
23. = —4 + 5x 2y, _6x+9=4x2
Simplify:
aNkUmuA/\Wva
A T, 2le. (3x% — 2412) (2% — x20)

AT Solve: 7254 = 53x+2

= M&N,.l 2
24. Evaluate (1.41)® by using the- calew _Or*.o..l . ’
A0 Solve: logy 16 — logg 4 =
Draw the triangles and evaluate:
31 2sin 135° 32 —2cos(-300°)
33 3 cos 300° — cos 60° 34,. sin (—150°) + % sin 30°
35. wuqnqﬂa log, 8 =n in exponmential  3l,. Write 7= 3*in logarithmic form
Solve:
1 . .
33 log, 64 =3 38. logy 5 =n 37 log,y= -2

8- Solve: 103+t

Write the equations of the following sinusoids in terms o_. the cosine function.

Lp. y

i 4l.

.

Solve:
§2. 9372 =32~

3, x=log,; 18 —log,,, 6
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